
PLEASE COMPLETE AND  RETURN THE TEST TO YOUR CONSULTANT. 

INDUSTRIAL TEST (NUMERACY) 

 

APPLICANT NAME:      DATE: 

CONSULTANT NAME:      SCORE:  

YOU MUST NOT USE A CALCULATOR!! 

 

 

QUESTION 1  

 

 Tick the numbers which are the same or have the same meaning. 

 

e.g. 1.25 as a fraction is 1 ¼,  and 1003002 is the same as 1003002 

 

1 1001007 10010007 

2 6.5  6 ½  

3 118347  118347 

4 10.05  10 ¼  

5 7.55  5 TO 8 

6 148174  184174 

7 25%  ¼ 

8 990990  990990 

9 171.2%  171.2% 

10 1.25  ¼ PAST 1 

 

QUESTION 2 

 

 CALCULATE THE FOLLOWING- Without using a calculator! 

1 12 X 12 =  

2 15% OF 20000= 

3 8 X 10= 

4  71 + 6 + 9 = 

5 187 + 78 – 12 = 

6 90 ÷ 3 = 

7  1/3 OF 45= 

8 10% OF 250= 

9 732 – 56 =  

10 £17.08 - £3.29 =  

 

 

 

 

 

 

 

 



[TYPE TEXT] 

 

 

 

QUESTION 3 

 

Rank the numbers below in the correct order- starting with the highest 

 

a) 118834  ___  

b) 118385  ___ 

c) 181834  ___ 

d) 188135  ___ 

e) 118813  ___ 

f) 10376  ___ 

g) 111875  ___ 

h) 178885  ___ 

i) 178875  ___ 

j) 10026  ___ 

 

LITERACY 

 

Please circle the correct spellings from the three choices. 

 

1. Received  Recieved   Receaved 

2. Neccesary  Necessary  Nesesscary 

3. Acuaracy  Accuaracy  Accuracy  

4. Catalogue  Catalog   Cataloge 

5. Reggistration  Registracion  Registration 

6. Confedential  Confidential  Conffidential 

7. Sincerely  Sinserely  Sincerelly 

8. Testemonial  Testimonail  Testimonial 

9. Development  Developpment  Developmant 

10. Business  Bussines  Busines 

     

 
              

 

 

 
 

 

 

 

 

 


